Properties of Division J

L12+1=

Which property is this?
.0x4=

Sharing zero things gives to each

. Tick the correct answer

Which shows the identity property of division?

(a) 15+ 1 = 15 )

(b) 15+ 15=1 [:]

(c)0+15=15 C]
. 36+1=

This follows property

. There are 18 chocolates. Each child gets 1.

How many children?

This shows which property?
. Fill in the blank

Any number +1 =

. 0 cupcakes divided among 8 kids

Each gets

. Choose the correct pair
(@aJ9+1=9
(b)1+1=0
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(c)8+1=1

Which two follow the same rule?
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9. What will 100 + 1 equal?

Answer:

This shows property

10.Tick the correct statement

(a)50 50 =1 )

(b) 50 + 0 = 50 )

(c)0+50=50 C]
119+9=

This is called property

12.Fill the blanks

Any number < itself =

13.@ 0 watermelons shared with 4 kids

How many each?

14.Tick the correct identity division

(a) 45+ 1 =45 ]
(b) 0 + 45 = 45 )
(c) 45 + 45 = 45 C]

15.Write the property
8+1=8

Property:

16.27 +1=

Can we use this property for any number?
17.Match the results to names

(a) 100 +1 (i) Identity

(b) 100 + 100 (ii) Zero

(c)0+5 (iii) Number + Itself




